P/N: 1.12436E1-B

PRS2

Cabinet Heat Exchanger

B
D
A FH 3 B 45

User Manual

TE 7 ity 22 Z A8 Y BV AT 4 PR 1 AR T 0 !

Read this manual carefully before installation and using!



Bl 3 Foreword

ffid  Summary
ZF M4 HRUC E 045/N/E/D RFINUAEHAZH ) H 050, A, Poimdid . 223

i85 LK™ i e R BT OR o
The manual describes the series of HRUC E 045/N/E/D cabinet heat exchanger

instructions, declaration, product overview, installation guide, maintenance and

warranty.



R H g Change History

Version Change History Draft by Approved by Date
A P&k d pEE) #HLAE H
Created Chen Xuesong 2022.09.14
B Change lable Chen xuesong Frank zhao 2023.2.14




H x Catalog

FT 5 FOTBWOIT ..ttt ettt ettt s st b ettt s e s e e b et e s s e s e et b e s e et e s e s et b et e et sese e s enens i
ZEFHALTE CRANGE HISTOMY ...ttt ettt ettt ettt e s es e s e e e s s s et as et et et et et et et et e seseseseaeanans ii
1 fH I ZIUT INSITUCHONS «..vvveveeee ettt ettt ettt ettt e et ee et e ae et e e et e e et et ese et ese et eteseesssteseseensetesestessstesateesaresean 5
2 FE I DECIAALION .......eevieveeeie ettt et et eee et et e et e et et eeteete e teete et e ebeeseesteeteestesteeseebesaeeseeebesnsesteeteentesteeaeestesaeenreans 6
3 FEEHEIR PrOQUCE OVEIVIEW ......ceeviveeeeeeeeteee ettt ee ettt es et st et ess et stese s s e tet e s saseese s etesneenaeaes 8
KT LT 2 Y o] o] oz 1o o OSSP PR SRSRP 9

3.2 FERHE ProduCt NAMEPIALE .......c.evcvieieveeeeeeeeee ettt ettt n et ae et ae s 10

R R el T E R = oo [0 (=Y LU 1£= X FO OO 10

3.4 TAEJEEE WOIKING PrINCIPIE . ...cuviitiii ettt ettt ettt ettt sttt b e et et sbe e be e e b e sbeeeearas 11

3.5 KFHETE Vs. N EBIEE #i £k Fan Speed Vs. Inside temperature CUMVe.............ccceveveveeeeveeerenennnn. 12

3.6 FEEB The components Of PrOTUCE ..........cc.ciiviiiieiiee ettt 13

3.7 EHIHEE ] Control WIring diagrami.........c.coveveueveeeieieeccee ettt 14

3.8 IZATIZHE OPEIatioN l0QIC .. .veueveeeeveeeieeeete ettt te ettt ettt ee ettt e et se et et e st e et eseste s etenearens 14

3.9 WEFE MONILOTING ...ttt ettt ettt ettt ettt ettt e st et e et et esseseebeeaeete st e ste st et ensensereanas 15

4 ZIEFR'T INSLAllAtION QUL ......cuiitiieiiieiieieeeee ettt ettt sttt seese e b e beebe et e ste et et e s enaene e 16
4.1 BEASLEE MAChING INSLAIALION. .......c.eeveieeeeieete ettt ettt st et ete s e e eetesaeeeee e 16

4.2 B2 Electrical INSAIALION..........c.ciiveveieesietee ettt eb b essenas 18

4.2.1 FFHZR R USer Wiring reqUINEMENT .........c.oviviieieceeeeeieeeeieeeteeetee ettt 19

4.2.2 FHRETHETE Pre-operational CHECKS ........cccoviieieice ettt 19

5 PEE4ES TR Maintenance and WAITANTY ..............co.eoveueieereeeteeeeeeeeteeteteeseseeteeetesestesetesesseseseeseseeseseenas 21
5.1 FEEHZEYT Product MAINIENANCE ...........coovevveveveteeeteteteteteeeee ettt 21

5.1.1 HE T H: Prepare t0O0IS . ..cccivciiiiuiieecieete ettt sttt sttt s s eneeneenaas 21

5.1.2 HH 4P ROULINE MAINTENANCE ..........ovvvivieteteteie ettt 21

5.1.3 FABTPEIKAL Preventative SIte VISIt.............ccc.cvcveueueueucuercecececceeee et 22

5.2 FEIBAEEH Replacing of COMPONENTS ........coviiiieeieiiieeie et 23

5.2.1 W EH N K E How to replace the internal fan.............cccceeveeeveeeveeceeceeceee e 23

5.2.2 W{TEHANRHL How to replace the external fan............occcceeeeviveeieievereeeeeeeeeeee e 24

5.2.3 Wi H Lk How to replace the PCB-Printed Circuit Board.............ccccveveveeveieveennaes 24

5.2.4 WHTEHIEH 2% How to replace the filter..........ocooeviveiiiieicceceeeeeeee e 25

5.2.5 HAthlklE o Hr 5403 Other fault analysis and treatment ...........cecceieeveeeceece e 27

5.2 £S5 IR S5 FIZESS SErviCe @nd rEPAIN .........ccvieieiieeiieeeee ettt 27

LSRR I 5 = L= o1 -] TR 29



1 fF 2% Instructions

o AFHHEHT: HRUC E 045/N/E/D RAINME A Heds
This manual is for: the series of HRUC E 045/N/E/D cabinet heat exchanger
o [ FHASHLATE 550 bl s AR A5 FH i B 45
Be sure to read this manual before using the unit.
o JH AL ZHE IR AT AE B A AT AR = 52 37 il 1R IR AR S5
Only when the user operate the unit in accordance with the user manual in warranty period

HuaRui can offer repair with free of charge.



2 7= B Declaration

RoHS Compliance Declaration of
Cabinet heat exchanger

European Guidelines 2011/65/EU (RoHS)

Legal regulation for Substances

Dear Sir/Madam,

Referring to the European guideline of 2011/65/EU, we confirmed that according to the
current status of our knowledge and in accordance with the regulations, we could produce
products complying with above mentioned guidelines especially for below type:

X HRUC E 045/N/E/D

Yours sincerely,

Engineering Department

Suzhou Quick Thermal Control Technology Co., Ltd.



Declaration of Conformity c €

Suzhou Qucik Thermal Control Technology Co. Ltd
No.15, xiangpu Rd. Industnal park Dis. Suzhou. P.R.China.

Tel.: +86 512 85335116; // Email: infoiw topquickeooling com

We herewith declare the following products:
Product Name:  Air to air heat exchanger
Rated supply:  DC 48V(36~72VDC)
Product No: 12436

series products is in conformity with the following directives:

- B EN 60 335-2-40: 2003+A11:2004+A12:2005+A1:

2014/35/EU | Low Voltage Directive | 2006+A2:2009+A13:2013
| EN0335-1:2012+A11:2014
_EN62233:2008
'EN 55022-2010 EN 61000-3-2: 2014 EN 61000-3-3: 2013

EN 61000-4-29: 2001

2014/30/EU |EMC-Directive

'2011/65/EU | RoHS Directive 'EN 62321:2013
@a““#&"
Thorm Conteny 2
\M&V e ca,
-~
Signed for and on behalf of:

Suzhou Quick Thermal control technology Co., LTD.

PR
Signature F IZ'“k Zhao Place and date of issue: /\V&V- [$h .29
(Frank Zhao /CTO)




3 FEERBA Product Overview
*RTAZE About this chapter

KRENG T HRUC E 045/N/E/D HUEHSTHMIBI . 77 ilie . TAF IR, RGBT, 217125
PR BEERA TR 3 DL R M R AL AT o VR PR AL HE AT R A DS E PHAT !

This chapter describes the HRUC E 045/N/E/D cabinet heat exchanger application, product
features, the working principle, duct design, operation logic, monitor operation guide and alarm and

fault processing of information. It is required to strictly operate the unit according to this user
manual.



3.1 M Application

A Important

2 g T I U 5C Tk B & N i vt s R REHUE e s, (S BR i st .
AL IR SAE T XM CIEH TAEN % RS ) WEBSEATIR R H],  DAORUERE Y BT #viioe
PERTRAIE S TAR, RAEH G TARVERE .

The product is designed for communication or related industrial equipment applications and
design of high performance cabinet heat exchanger ,Please use the DC power, The installation is
the significance of the control cabinet (normal work to a closed state ) of internal temperature
control, To ensure that all electronic components in the cabinet work properly at their optimal
performance.

B DL L 158 B 1 8 375 DAAI B0 A A AT 375 A5 FH i G AR AT 42 3, FROT AR HE 54

Any damage caused by any other applications outside of the application object described above,

Responsibility is not assumed.

@ Warning

s iz iniz T, EE R, E2 .
Transport: In the process of handling or transport of the product, do protect the product and do
not over impact.
AR ANEFERAPIN, B K A7 e m i S 3R EE T (80°C,95%)
Store: Don't open storage, or stored for a long time at high temperature, high humidity
environment (80°C,95%).
Kbl KIS AL 2™ 5, 5 9S8 32 FL I

Shutdown: If not using this product for a long time, please turn off the main power

@ Warning

PEEER AN B A B0 FRAE7E 7 B R S A B A I S R RN B4R %77 b
This appliance is not intended for use by persons (including children) with reduced physical,
sensory or mental capabilities, or lack of experience and knowledge, unless they have been given
supervision or instruction concerning use of the appliance by a person responsible for their safety.
N TG RS, LR 55 A P () — 2 ) A Y ) RIS ) 22 A E R 7
In order to avoid the safe risk, the power supply cable can be got from the same cable brand’s
type or use the cables that passed the safety certification
N T AT AT S, B R TT  S RIS CGRIR. SREID . S ERNE S IR AR IR AR
L B, R il o 1z i R E, RATEA SR IER & 5 IR .



Not recommended use the product under the condition of high oil, burning gas (strong acid,
strong base), explosive gas, strong corrosively condition area. Otherwise the product warrantee

service is not been offered by manufacture.

3.2 P A ke Product nameplate

Technical Data
Rated Voltage Range: 48VDC(36V-72V)
Product Type Rated Current(max): 0.6A
Heat Exchanger Fuse Value: 12A
NOKIA Number/Versicn
1AF29835CCAA/GO1 Fiathd Watinge: i
DT Material Number Specific Cooling Capacity: 45W/K
_ 47130807 Weight; 16kg
Supplier Part Number/Version % & ) -
12436/Ver. A P I -
Product Date WK XX/XX IP Grade: IPS5
Manufacturer: Suzhou Quick Thermal Control Technology Co., Itd.
Add: Nc.15 xiangpu Road Suzhou Industrial Park Jiangsu China

Tel: +86 51265335113

ww topquickcooling.com sale@topquickcooling.com 1 2436W2 022 1 1 09 0 0 1

HID:LENSN S/N.:12436W20221109001
HTN:1AF29835CC G:01
MNr: 47155637 4L:CN

3.3 P2 h R S Product features

® Eamin Lt
Suitable for high temperature
o JiilA
Self testing function
® IREMITTIRE
Alarming output to monitoring system
® Yy UifE
Easy maintenance
® SLHLEEN. ME(E. B, WS E A SRS AR B2 W EE
Remote measuring, remote communication, remote control, which can realize can realize multiple

automatic protection and comprehensive self-testing function;

10



® ZH{RJIIAE. RS485 #1101 (MODBUS-RTU #iX) ;
Multiple self-protection design & RS485 communication port (MODBUS-RTU protocol);

3.4 THEJ## Working principle

W2 Solar load
iiﬁﬂﬂ?;///

W heat dissipated through

plates / B4 A # & HHE FLECTRONICS CARINET
B = r Return Air
e
Te: Exhaust Air 5 R N W3: Heat dissipated through
BA ' 4 cabinet ¢ AAE B #
v
2 T=: 5 lier Ai
Ta: Ambient Air £, N=Ts Supplier Air
T -— @ #2554
[vy1: Internal ?#L’“m‘—l
Heat transfer plates Heat Lo ad ] 457
##d- B

AR BT AR 3 B IR E iR, HRUC E RIS Hds e B U M H i il . A #as ]
s 22 LUAE IR AR A AN R, T DU AR P 2 AT S i, PRI R B — N IETE 5 A Al . 2 I
PR OB PR A TSI 2 AL AMIEIA R KU A 0P AR UL, e v ) B0 i i b B SIEa v
%% .

Heat exchanger is mostly used for enclosure cooling, HRUC E series is designed especially for
mounting on a cabinet. The unit uses ambient air for temperature regulation so it must have access to
ambient. The internal temperature of the enclosure is cooled via effective utilization of the ambient air.
An air/air counter-current plate heat exchanger is used to transfer the heat. Two sets fans, one set for

the internal cycle and the other set for the external cycle air circulation.
P it XU 1 XU 2 PR BE AR G, R T — A IR B A A 2 BT Y

The speed of the fans is controlled according to return air temperature which based on the control

system.

11



3.5 WJm ¥ Vs. W #F IR & #i 2k Fan Speed Vs. Inside

temperature Curve

™
Internal fan speed
{RPM
MR
1300
800 |
| N
25 50 7
Inside temp. C
Internal fan/ify G JTEBIBRE T
N
External fan speed
/RPM
SRS R
1200
800 e |
N
25 30 50 i
Inside temp. /iC
FINERR BT

External fan/f#h .53

12



3.6 =54 The components of product

BN

Driver board

AR

Control board

Filter PCBA

Ny R

DC'DC EE:/ N
A Int. fan component

DC-DC power convert

2 O
Interface board
component

S IR

Cover component
| —
—r

|

HEX core

TR AL

Frame component

S AL

Ext. fan component

13



3.7 I Control wiring diagram

REGREE Temp. senor
+ DHEEEEE <

A

44
Control board 6@
A

R P&k

The yser wiring diggram

=471 % Operation logic

ATy L, EEEHT BT, A AR R O R R T N MR AR B . A

Ko R o, B A SE R R IE R iE 1T .

After unit switch-on, the unit will perform a self-testing program firstly. If there is any trouble during

self-test, the alarm will be generated, the system according to the alarm fault code to enter fault

handling operation. If there is no trouble during the self-test, system will be normal running

automatically.

H#%: Self-testing
FRSFEW N : The self-test procedure is as follows:
B R Ie] XUTRLE A RS
First: Detection of return air temperature sensor;
B KA XL
Second: Detection of internal fan;
H=2D KA AL
The Third: Detection of external fan;
KRG IEH TARRS BRI AR
FHlig4T Standby mode
1B AU P R AR WIS AT 25 IR (T 7R e BN ), DU i 2R e AR LIS ATIRAS, i RGBT
XL
If the return air temperature meets the condition of the Standby mode (not need heating or heat
transfer), the heat exchanger runs into the standby operating state, At this point only the low speed
fan inside.

#i#iz{T Heat exchange mode

14



A 0] XU EE 9 AL e IS AT S A RPN EE i TANRBILTF IR IR, W e s A RIS ATIRTS
LIRS A A AL 2 MR A A P i 2 PR AS (R R AT T 38 4T

If the return air temperature meets the condition of the heat exchanger (cabinet inner temperature
is higher than the outer fan start temperature) , the heat exchanger runs into the heat transfer

state, At this point the fan will change speed according to the cabinet inner temperature.

3.9 1i#%# Monitoring

AT AR T NE S IR, ARER TR+ & TIR-E:0 . AR FUSKIEZHER.

The unit can be monitored by software through T/R+ & T/R- port. Please consult to the manufacture

for more information.

15



4 Z 3485 Installation guide

4.1 F £ 3E Machine installation

23U, Installation steps:
1) HrbrAZHAR IR, A ERE R, AR S S BT
Removal of packaging box, check the package list and the machine is well.
2) AERUREE, ARSI 4-1 AAENUAE L
Installed the Heat exchanger on the cabinet use nuts, as Figure4-1
3) VAT RHDEFTERSE, AR .
The mechanical part of installation is finished till now. please double check.
THHZ T R BT 23

Please follow the below diagram of installation

K 4-1 %235 7R % I Figure 4-1 Installation diagram

16



LI

Mechanical Interface

[

A/ 0500 2 20N

IV S W L D-T-EEE

foi HWiug| B 1W B

iR T s P

oW

@ T s

BET
TF 7|
Taagsmng] W N

LET]

[ RUI21XY

H '] L]
- -
- a
ITE WEE[qEY
. o
15n -_”.uu
L] L1
. L]
= o o
- - - - —
. . _ =
)
[ '
[ = efvos
L
[BuIau]
LI Te - 190y
o ] UpEIp I
.ﬂl ® B fr
%umﬁnnmnnnue . . 2 | TS
= = ”\ “.. =
._.qn man ..n..u.
1 AWl PEUSYY VRS 34 Al A0
L
J [
[ 51 W% |
[T EEde T e
HIH 0% SE
ard
[L]
433
A 1243101
T ™ E ¥

17



A Important

HE R . IR, EERE GRER. 9RO MABGREEET 70°C. W 95% M T
1% i o
e Don’t use this unit in high oil, burning gas, explosive gas, strong corrosively (strong acid, strong

base) condition, the ambient air must be under 70°C, and the humidity not higher than 95%.

4.2 H5 3% Electrical installation

0V -48V PE Alarm1 Alarm2  T/R+ T/R-

(@) (®)
0 i i i OO0

12|34567E|§9JO

Electrical Interface definition HES4% 10 5%E X

Silk print symbol /

No. /|75 wiy Definition / & X Remark / &
1 oV Positive electrode of DC power/ Bt H 5 1A% /
2 -48V Negative electrode of DC power/ & i Hi 5 171 1% -36~-72V
3 PE Grounding / 512 /
Minor alarm
4 (Int.fan alarm/Ext.fan alarm/Controller alarm)
Alarm 1 | Yo NC / ]
° (P SR RUBLE il )
Major alarm
6 (High temp. alarm/ Low temp. alarm/ Temp.
Alarm 2 senor alarm) NC / &
- By
(i AR 7 B R AR AR 5 )
8 / / /
9 T/R+
o e RS485 Communication interface/if iz [ RS485

18




4.2.1 AP#EZEK User wiring requirement

FIP B R 4 K IR it 2 L1220 A2 DA T SRAR R

The power, the power cable and the breaker should meet the following form, when they are
supplied by customer

WH / ltem FER // Request

HJE /| Power H i B E/ DC Power

Hi TG /] Voltage range | DC:48V/(36V-72V)

Wri% s // Circuit breaker | U E IR HIEWTEE 25 /N T 12A

The recommended DC power circuit breaker is not less than 12A

422 FERIEE Pre-operational checks
AT AR W AN R e I, I T AR R

After heat exchanger installation and the electrical connection are completed, please check the
following checkilist:

5 K e H
Serial number Check items
1 PRCIRE] D K[

Ensure the screw is fastening

PN MR F3E XU BT B S B o

2 Ensure that there is enough space near the internal and external
of the air condition

RREAR R IR, 15 B (5 5 2R SR IR

3 Power line to connect the right polarity

Alarm signal cables are connected correctly
M RFES AR, EEERIER, FFaMmi Rk,

4 Using a multimeter to check the supply voltage, power supply

voltage is normal, consistent with the requirements on the

nameplate.

19



7 KA AL RIS GG DR IEGIRA IR, FRH 5

Note: the correct power type of the machine sees the nameplate on the machine surface. If the
power is not input correctly, the unit will be alarm

@ Warning

Pogtds Eris T RE T, ERAEREWRE . B8, WALRIYIR R, JRlEmE N N L TR .
When the heat exchanger is running, if there is abnormal noise, vibration, please cut off power

immediately and notify the professionals to inspect.

20



5 PRI LET AR £ Maintenance and Warranty

5.1 P 5h4E3 Product maintenance

5.1.1 E&/ I E: Prepare tools

% 5-1 4E37 T H Table7-1 Maintenance Tools

J¥*5 Number T.H Tools
1 Ji H 3% Multimeter
2 M3 +FIR22 7] M3 Phillips screwdriver
3 M4 2222 7] M4 Phillips screwdriver
4 M3 —Fi822 7] M3 Straight screwdriver
5 M4 E 5 F M4 Socket spanner

5.1.2 H% 463 Routine maintenance

% 5-2 HE 4P Table5-2 Routine maintenance

Fs I H 656 77 % B A R 7
NUM | Check items Check methods Solution

1. RIARAZ WA 5N IR
Turn off the supply power 7RI IR A P I B
2. AFHshHIEL, WEEREMBIE | 2%, NEDGHILEHSE
Pulled the power line, watch whether the | g2k, FIM222 TR h M2 22

1 HIRZAE T | line is loosening Fr&
Power line firm | 3, FJ#822 T i Zeom 1 ERERZZ, WL | If there is a power line looses,
HEBARINIUR You should tie tightly power

Screw the screws on the power cable | cable; with a screwdriver to the
terminals with a screwdriver, watch | loose screw
whether the screw is loosening

21



A IEAE LT e, 1S
WA PRZIE DN R = ECIE TN
N e s NN Egﬁmﬁjﬂﬁ@@ﬁ%ﬁ
v S| R A 7 A L 9 R Y . -
2 Voltage Use the multimeter to measure heat | 'f the \I/oltage |sP|not W'tth'n th]?r
Stabilit exchanger input voltage to watch whether | N0fMal range, Fiease turn o
y the voltage is within normal range. the power supply |mmed|ately_.
Power on heat exchanger until
the supply voltage within
normal range.
Py 7‘—\A (=} 3 A»;{ I—l
sogpipse il | MRS BT ICRRE R | saname, wrmme
3 | AR )?% If the screw is loosening,
Screw firml Use scrowdriver to screw the screws and lease tighten it.
Yy p g
watch whether the screw is loosening
1 BRIARES, AR
AN il SRk A
U5, FFBER T A L4749
While self-testing, if there is
RGWrr E ER B, DN HAE B | abnormal  noise,  vibration,
4 RGBT P& IR please cut off  power
Cooling Power on the switch and watch whether | immediately and notify the
the self-test is correct. professionals to inspect.
2. HREXBEPERAEEE, i
MR & B AD HEAT AL 2R
If it is alarm while self-test,
please process

5.1.3 FiB5 148 Preventative site visit

It is recommended to perform preventive site visit on the unit once a year (depends on air cleaning of the
nearby surroundings), check the cleanliness of the external cycle inlet and outlet, and if the fans failure.
SR ULRE AR AT e s AT — PR I A (R T b3R5, B A AT AR SMIEIAE X 75
WEEE, L A RS A R

® |f the external cycle inlet and outlet need cleaning, the following is recommended.

AN AMIEFAE IR, P2 DL AP BRI T Ab 3

1. Switch off all the circuit breakers related to the climate unit

TR G A e A AR T 2t

2. When clean the external cycle inlet and outlet with a small brush, compressed air and a vacuum

cleaner, the air pressure should be less than 0.5bar;
FER/INRS R L T 4 SR L R R AR B i AMIE IAE H R G B, IR SR 7 /T 0.5bar;
3. Switch on the unit. Once self testing finished, the unit turn to normal operation.
KT kMG . BRsem)E, PSR islT.

22



4. Finish.

+
4h

® |f fans failure, the following is recommended.

U SRR B, TT 4 DA D R AT AL B

1. Listen to the fans while in operation. The sound should be constant and with very little fluctuation
otherwise the fans are out of balance and should be replaced;

PR IBAT I T R B 75 5 o P i SR B R I, 75 U PR gl 2k 2511l 5 22 B 4

2. Switch off all the circuit breakers related to the climate unit

IR A5 TR e A R ) T 2l s

3. Remove the internal and external fan;

PRBRA A XU 5

4. Mount the fans back again;

W R B 47

5. Switch on the unit. Once self testing finished, the unit turn to normal operation.

Bt &. BRTERE, P EHIET.

6. Finish.

S

5.2 FE & #e Replacing of Components

Note: Make sure that all circuit breakers related to the climate unit are switched off before you start.

FlE: ST RS A ST IE ) I 2t T

5.2.1 WA By XU How to replace the internal fan

Before you start make sure that you have the following available:
17-M4 B2%T

PE S B R RIS LT T AR5 17-M4 scrows

v' M4 Phillips screwdriver;
M4 5 3kiR 22 7] —

v" M4 Socket spanner o ‘ °
M4 ERHRT . .

v" Anew fan (insure the same type) el ] 9
—AHIRE (AR S R

1. Unscrew the M4 screws on the cover, remove the cover;

AR _EAIRET, R s AR BR

23



2. Unplug the internal fan connector, unscrew the M4 screws and the M4

2-M4 12R}E

nuts on the fan fixed board, then remove the panel subassembly;
s N R S, D XURR R b (MR R R, SRS R AR R

3. Disassemble the fan from the subassembly with M4 Phillips screwdriver;
W XU AR LA BRI

4. Mount the new fan by following step 1, 2 and 3 in reverse order.

FEHE 1-3 IOAH oD IR 2 250 1 XU 2-M4 B245T
2-M4 screws

5.2.2 Wi S s XA How to replace the external fan

Before you start make sure that you have the following available:
FESE e 2 BRI LU TR
v" M4 Phillips screwdriver;
M4 -3k 22 ]
v" Anew fan (insure the same type)
—ANE XU (R ORAH [R]85
1. Unscrew the M4 screws on the cover, remove the cover;
E AR B RRAT, K SRR R

2. Unplug the internal fan connector, unscrew the M4 screws on the

4-M4 B2ET
4-M4 screws

fan fixed board, then remove the panel subassembly; ol < ,,
PRAs N KU 3, SRR R RRET, SR KU AR B
3. Disassemble the fan from the subassembly with M4 Phillips screwdriver;
1 KU MRS 2R b 3
4.  Mount the new fan by following step 1, 2 and 3 in reverse order.

08 1-3 (A SOD BRI XU o

5.2.3 Infal B e 2k A How to replace the PCB-printed circuit board

Before you start make sure that you have the following available:
S
Main control board

75 5 2 FIAf ORIEAA LA TR

v' M3 & M4 Phillips screwdriver;
M3 & M4 +-5-3kiR22 7] ;

v" Anew circuit board (insure the same type)
—/NETI LR AR (B ORAR R 2S5

1. Unscrew the M4 screws placed on the cover, then remove the panel,

24



s AR _ERRET, R AR AR ER

2. Unplug the internal fan connector, unscrew the M4 screws

IRBIAR
Driver board

and M4 nuts on the fan fixed board, and then remove the subassembly;
PR N KU i1, D A RO e ERMRET, AR SR XU LA AR B
3. Unplug all the connectors on the circuit board and then remove

3-M3 24T
3-M3 screws

the subassembly from the unit;
Wi LA BT A 5, R AR AL IR B
4. Disassemble the circuit board from the subassembly with M3 Phillips screwdriver;
W B AN 7B
5. Mount the new circuit board by following step 1, 2, 3 and 4 in reverse order.
IR 1-4 (AR SR D B B 4 2 BR AR

5.2.4 W] S i %8 How to replace the filter

Before you start make sure that you have the following available:
FE S e AR ORI LT TR B4 TR
v M3 & M4 Phillips screwdriver; Filter PCBA

3-M3 24T
3-M3 screws

FENS = B
M3 & M4 |- 53KiR 22 T =7
v" Anew filter PCBA (insure the same type) o F@
—ANHTHIEE AR (B ORAR R A AL ;1
1. Unscrew the M4 screws placed on the cover, then remove the panel; i e 1 °

R AR EERET, K AR
2. Unplug the internal fan, filter connector from the DC/DC power convert, unscrew the M4 screws
and M4 nuts on the fan fixed board, and then remove the subassembly;
Pops A XU B RS A b T, S A XU R AR T AR EE, AR s KU AL R R 5
3. Disassemble the filter PCBA with M3 Phillips screwdriver;
K IEB IR
4. Mount the new filter by following step 1, 2, and 3 in reverse order.

I8 1-3 IS )20 R I 2%«

25



5.2.5 4{a] B #: DC/DC HiJE How to replace DC/DC Power Convert

Before you start make sure that you have the following available: U/ o2 |
Qs | <H S
75 58 2 BT ORI LA TR % mm
D
v i ivare ) °
M3 & M4 Phillips screwdriver; DC/DC HijE
M3 & M4 |5 882 7], M4 S0
FRMRZZ )5 DC/DC Power convert D M4 Nuts
v AnewDC/DC Power convert (insure the same type) o
@
—ASE IR (RO RIS =] ﬂ
1. Unscrew the M4 screws placed on the cover, then remove the panel; \K °
R AR RRET, K SRR AR R 2 °°

2. Unplug power convert connector, unscrew M4 nuts and remove the subassembly;
P R LR, EE I REREE, SRS r IR AL R R

3. Disassemble the power convert from the subassembly with M3 Phillips screwdriver;
W HLUE LR B ARBR

4. Mount the new filter by following step 1, 2, and 3 in reverse order.

I8 1-3 HA S )20 DR S MR 2%

26



5.2.6 HAthif & 5403 Other fault analysis and treatment

% 5-3 HAh#[E /415 407 Table5-3 other fault analysis and processing

HUPECIRES JE A 73 Hr bR HRRR Tk

Fault state Analysis of the reasons Solutions
RLE R fE, A A TR R 1. Krdr . g
B, HBAS NS 1. {FHECHE IR Check the power supply and the
Power on the switch ,the | Power failure or no power electric circuit
cabinet temperature is too | 2. WA iKkE 2. WHHEWL4EBN AR
high but heat exchanger | Machine fault Please contact professional
is not working maintenance.

1. AR IR OOk BB iR 1. RYETEBGE B iR E
The cabinet temperature greater than | Setting start temperature
or equal to the cooling set | according tothe needs

BB, RMMEILE
11, HA s Rl

1he machine 18 SIoPPINg | temperature. 2. WAL N AR
zuste?rr]]?;fonrmaleeec NC1 20 Mot R Please contact professional
y Other system fault maintenance.

5.2 &5 k55412 Service and repair

® %21 Warranty period
iR 36 M H .

The product guarantee period is 36 months

® JiiffyilH Warranty coverage
AP RAEGRAEIAN, FUE T 77 il A 5 5 i il JT S BORR ), AN w2 4E 12, & P s Rt
PR AR o AE A E DT AT TR RT3 ol ) A AN T3 ] AR R
During the warranty period, all belong to the product itself quality problems caused by fault, the company
will be free for you to repair; Household repair is required to provide the product label. But by any of the
following causes the failure does not belong to our warranty.
1) CEERIEHI;
Out of the Warranty period
2) AR RSH (RS MR
Cannot provide the product label(the product label is on the nameplate);
3) HWITHERWFAMEI G BT, B AR U bR 2 I AVE B2 07 Uede . 4efr i fE 2
EGh
Because of the abnormal condition or environment ,or the instructions specified in the
inappropriate installation, maintenance or operation causes the fault;

4) ARV IE I, B T B R A S AR R

27



Not caused by equipment failure, caused by user’s other equipment or software.
5) JHPT EAT E R R Sh R AR AT AR, B AR AL IS IR 55 PR T I BRI

User changed or disassembles by theirself, or maintained by the person without authorization.
6) IEMNKIR . IR BOKSEA TR S i B AR A R

Caused by force major such as fires, earthquakes, floods and other damage to the fault.

%57 7 B Disclaim
A REA R T CAGE R o FAN AT B8 H B8 S AT A A AT S R AN AT
The warranty is for the delivered products.

Irresponsible is for any loss that may be caused by equipment failure.

28



5.3 [Fig b Reclaim

BUAT s FYIBR BN FEAE 2™ WIS B Z0R A i B N B IR AR B, V52 4 4 BRI RT (R A
S ORET A

At the end of the unit working life, the produce must not be disposed of as urban waste; it must be taken

to a special local authority differentiated waste collection centre or to a dealer providing this service.

29



HUA RUI
Air Cooling Solution

Suzhou Quick Thermal Control Technology Co., Ltd.

TR S IR PR A PR 7

No.15, xiangpu Rd. Suzhou Industrial Park Suzhou China

S R EE L IO 14 D = S RS
http://www.topguickcooling.com; sale@topquickcooling.com

Tel: +86 512 65335116

30



